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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

1-  If you want to excel at what you love and take your skills to the next level, you need

tomake a ...ocovviiinniiinnne to both yourself and your craft.
1) commitment 2) passion 3) statement 4) venture
2-  Itis usually difficult to ...........c........ clearly between fact and fiction in her books.
1) gloat 2) rely 3) raise 4) distinguish
3-  Some people seem to lack a moral .................... , but those who have one are
capable of making the right choice when confronted with difficult decisions.
1) aspect 2) compass 3) dilemma 4) sensation
4-  The factual error may be insignificant; but it is surprising in a book put out by a/an
.................... academic publisher.
1) complacent 2) incipient 3) prestigious 4) notorious
5- In a society conditioned for instant .................... , most people want quick results.
1) marrow 2) gratification 3) spontaneity 4) consternation
6- One medically-qualified official was .................. that a product could be so

beneficial and yet not have its medical benefit matched by commensurate
commercial opportunity.

1) incredulous 2) quintessential 3) appeased 4) exhilarated
7-  Some aspects of zoological gardens always ..........cccuvevnee. me, because animals are

put there expressly for the entertainment of the public.

1) deliberate 2) surmise 3) patronize 4) appall

PART B: Cloze Test

Online learning has been around for years, but it really took off during the
COVID-19 pandemic. Many schools and universities .................... (8) transition
to online learning, and this trend is likely to continue in the future. There are many
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benefits to online learning, .................... (9) accessibility and flexibility. Students
can learn at their own pace, and from anywhere in the world. Online learning
.................. (10) affordable than traditional in-person learning, making education
more accessible to a wider range of students.

1) forced to 2) have forced

3) were forced to 4) forcing

1) including increased 2) they include increasing
3) and increase 4) they are increased

1) is also more 2) also to be more

3) which is also more 4) is also so

PART C: Reading Comprehension

11-

12-

13-

PASSAGE I:

Stem cells have a critical role in a variety of tissues, and it is useful to list their
defining properties. A stem cell is not itself terminally differentiated: that is, it is
not at the end of a pathway of differentiation. It can divide without limit (or at least
for the lifetime of the animal). When it divides, each daughter has a choice: it can
either remain a stem cell, or it can embark on a course that commits it to terminal
differentiation. Stem cells are required wherever there is a recurring need to replace
differentiated cells that cannot themselves divide. Although a stem cell must be
able to divide, it does not necessarily have to divide rapidly; in fact, many stem
cells divide at a relatively slow rate. Stem cells are of many types, specialized for
the genesis of different classes of terminally differentiated cells — intestinal stem
cells for intestinal epithelium, epidermal stem cells for epidermis, hematopoietic
stem cells for blood, and so on. Each stem-cell system nevertheless raises similar
fundamental questions. What are the distinguishing features of the stem cell in
molecular terms? What conditions serve to keep the stem cell in its proper place
and to maintain its stem-cell character? What decides whether a given daughter
cell commits to differentiation or remains a stem cell? In a tissue where several
distinct types of differentiated cells must be produced, are they all derived from a
single type of stem cell, or is there a distinct type of stem cell for each one?

The word “properties” in the passage is closest in meaning to ...........c..o.e...

1) applications 2) differences 3) characteristics 4) proportlons
Which statement does NOT define stem cell properties?

1) In a sense there is no limitation in their division.

2) They are terminally differentiated cells.

3) They can replace differentiated cells.

4) They divide at different speeds.

Hematopoietic stem cells differentiate to ....................

1) blood cells 2) bronchlal cells

3) intestinal cells 4) epidermal cells
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15-

17-

18-

19-

20-

Which sentence is NOT true?

1) Stem cells are not found in all tissues.

2) Each daughter has two options in her way.

3) Different stem cell types raise different basic questions
4) Some basic questions on stem cells are not still answered.
Where stem cells can be found in the body?

1) All tissues of the body

2) Tissues with low reproducibility

3) Intestine, epidermis, bone marrow

4) Tissue which cannot replace their differentiated cells

PASSAGE 2:

Neurons within the hypothalamus produce a tripeptide neurohormone called
thyrotropin releasing hormone (TRH), which enters the hypothalamo-hypophyseal
portal system to stimulate thyrotrope cells in the adenohypophysis to release TSH.
TSH enters the blood and stimulates secretion of thyroid hormones by the follicular
cells of the thyroid gland. The cortical brain responds to various external
environmental cues such as colder weather to increase TRH secretion. In addition,
internal environmental cues control TRH secretion. For example, leptin is a hormone
made by adipose tissue when it is gaining triglyceride. It reacts with the hypothalamic
neurons and stimulates TRH secretion. Lactation also increases TRH secretion.
However, the most important regulator of TRH secretion is thyroid hormone itself.
The brain has a certain requirement for thyroid hormones - they influence many
aspects of the nervous system related to brain maturation and function, including
neural cell migration, neuron differentiation, and the rate of conduction of action
potentials down axons. When thyroid hormone levels decrease, the brain senses this
and signals the hypothalamus to secrete TRH. When T4 and T3 in the blood are
sufficiently high to fulfill thyroid hormone functions in the brain, the hypothalamus
ceases secretion of TRH. Thyroid hormones (T4 and T3) also provide negative
feedback directly on the adenohypophysis and cause reduced secretion of TSH.

Thyrotropin releasing hormone ....................

1) affects some specific cells in adenohypophy31s

2) enters hypothalamus from hypophysis

3) is produced in thyrotrope cells.

4) inhibit releasing TSH

The underlined word “it” in the passage refers to .................... .

1) hormone 2) adipose tissue

3) triglyceride 4) leptin

Which one is NOT the effect of thyroid hormones in nervous system?

1) neural migration 2) neuron differentiation

3) increasing TRH secretion 4) conduction rate of action potentials
Which one has direct negative feedback on TRH secretion?

1) Decreased T3 2) Increased T4 3) Lactation 4) Leptin

Which of the following words best describes the tone of the passage?
1) Passionate 2) Objective 3) Ambivalent 4) Ironic



0 axio 229 A ((55L) = 1B+ ¥ 0S) S jold (559092 ud

21-

22-

23-

24-

PASSAGE 3:

The follicles within the cortex are classified as (i) primordial (sometimes called
primary) follicles, (i1) growing follicles, and (ii) Graafian follicles. The primordial
follicles contain a single oocyte that is surrounded by a single layer of granulosa
cells. The granulosa cells are derived from the superficial epithelium, and the
oocytes are derived from mitosis of oogonia in the embryonic genital ridge that
then migrate to the ovary. Growing follicles are follicles that have begun growth
from the resting stage as primordial follicles but have not developed a thecal layer
or antrum (fluid-filled cavity). They have two or more layers of granulosa cells
surrounding the oocyte. Additional layers are added with continued growth. A
zona pellucida that surrounds the oocyte may also be present. The zona pellucida
provides pores through which processes of granulosa cells can interact with the
oocyte surface. Also, sperm must first recognize and then contact and traverse the
zona pellucida to reach the oocyte plasma membrane. Graafian follicles are those
in which an antrum is clearly visible. Considerable atresia (regression) of the many
primordial follicles occurs by birth and throughout the reproductive life of the
female. At the end of the female's reproductive life, only a few primordial follicles
remain, and even these undergo atresia soon thereafter. Growth of some number
of primordial follicles does occur after birth and before puberty, but these never
reach the Graafian follicle stage and regress. The growth that occurs before puberty
is not hormone related and is probably controlled by an unknown intraovarian
factor.

Matured follicle of the final stage of growth is named .................... .
1) graafian follicle 2) primordial follicle

3) growing follicle 4) primary follicle
Oogonia are located in .................... .

1) zona pellucida 2) follicle antrum

3) superficial epithelium 4) embryonic genital ridge

All of the following statements are correct about zona pellucida EXCEPT that

2) sperm should penetrate it to reach the oocyte
3) it is produced in growing or graafian follicle
4) it helps to connection between oocyte and granulosa cells

Antrum is a character for .................... ;
1) graafian follicle 2) growing follicle
3) primordial follicle 4) primary follicle

Which statement is NOT true?

1) Follicle growth factors before hormone-dependent growth is not clear
2) Follicle atresia occurs throughout the reproductive life

3) There is no matured graafian follicle before puberty

4) Follicle growth occurs only after puberty
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